1 | 2 3 | 4

4x D3 H7 V5
CA @16 mm for dowel pin @3

Side view

4x Mounting holes
M4x0.7 'S5

2x Mounting holes @4 THRU,

accepts M4 DIN912 screw
Front view *Shipped with plugs,

remove before putting screw in

**Connects another XYIND holder

*Connects another A
[ XYIND holder at any angle ‘ ©* THREAD
I 0 © SM1 (1.035"-40) U 5
5 @ « Both sides
o ) _
5 Td | 0
ol 1~ o N~ 2x @3 H7 15
NI ol N ol ©l for dowel pin @3
AN N n
| | |
| |
| 7.5 35 125 2510.01
12.5| 254001 _ . 25 2x Mounting holes
25 M4x0.7 V4.5
Top Vi Both sides
i 50 - op view
‘ I
O
0
X
ol 2
v o
o
@
| |
3x Mounting holes
4.2 THRU
Locking Nut a7.51_1\ 22 (both sides)
ocking Nu attaches XYIND-SEAL-SM1 - 50 _ Accepts M4 DIN912 screw
Adjustment microscrew for tube sealing B approx. 56 -
HEX 2mm
Finish Created by
Anodized Aluminium Optogama 2022-10-27
FOR INFORMATION ONLY Tite DWG No.
OPTOGAMA XYIND-3Rv2.0
! NOT FOR MANUFACTURING PURPOSES ' XYIND-3R
XYZ axis holder | __
Reflection type 1 A3 1/1
6

7




	Sheets and Views
	XYIND-3R


